
Problem Solving Problems #3

1.  Place these numbers into the proper location in the real number system Venn
diagram.

(a)  1 (n)  
12
3

(b)  76 (o)  0.1

(c)  0.32 (p)  
−4
7

(d)  0.090090009... (q)  0.8
(e)  0.1234563456... (r)    2.34

(f)  
3
5

(s)  
22
7

(g)  /2 (t)  −7
(h)  87% (u)  0
(i)  0.75
(j)   9
(k)  -0.64
(l)  5
(m)  -1

2.  Tell whether the following numbers are rational or irrational.
(a)  13.234234...

(b)  -4.454454445...

(c)  3

(d)  3/4

(e)  71.56

(f)  144

(g)  
96
0.15

(h)  7.090980987...



3. Convert the following numbers to base 10.
(a)  5617

(b)  100111012

(c)  43215

(d)  210123

(e)  8129

(f)  33334

4. Convert the following number from base 10 to the indicated base.
(a)  302 to base 2

(b)  798 to base 8

(c)  5555 to base 5

(d)  1001 to base 3

(e)  99 to base 4

(f)  207 to base 6


